
m n

x

(3a +2, 2a +4) X

(4b +12, b +6) Y

a ×b

a b x

ax −10 = 7x −2b

a ×b

ABCD B

D

AB = 12 ED = 13

BC

�
2 8



4x3 +4x2 +3x −2 2x +3

Q R

Q +R

2x2 +x −3 2x2 +x +8

2x2 −x +3 2x2 −x −8

2x2 −x −11

�

�

�

23% 41%

160

36.8 65.6

66.5

65.6

66.5

36.8

38.6

38.6

38.6 68.6

1

20

0

50

20

80

10π
625

64
π

625

128
π

25

64
π

25

128
π

A 10

15 B

A

20%

B A

x

2
5

2.5

A

2.5

A



ABCD

10 E AD

A BE

F C

BE G
B C

DA E

F
G

6
8

10

BG = 6 CG = 8

FG

47 × (
52

)6
n

k

n −k

x2 + 6x − 1 = 0 x2 +
x2

� (2,0) �′

� X

�′ (1,2)

�

y = 0 x = 2 y = x −2

y =−x +2 y = 2x −4

30%25%

20% 25%

45%

25%

10%
20%

24

x y

x + y

2x y

x + y

2x y

x + y
+x

A

x + y

A

2x y 2x y +2 2x − y +2

x2 + y2 x2 −2y

1



2

1 10

A

B

1

3 A, B C

45%
55%

A
40%

B
35%

C
25%

A
35%

B
20%

C
45%

2,400

v

e f v −e + f = 2

3v = 2e 5 f = 2e

3 3

3

4

5 x

a

b a < x <�
b

a +b



  

260

4

1

0

l m

a +b +c +d

10 20 216 −1

18

6



m v

x1, x2, . . . , xn

m = 1

n

v = 1

n

(x1 +x2 + +xn)

(x1 −m)2 + (x2 −m)2 + + (xn −m)2
}

x

y 3

2

3

A, B C 200

1 A B 1

2 B C 2

3 C A 3

4 A B 4

5 B C 5

6 C A 6

200

x y

max{x, y} x y

min{x, y} x y

x y

max{x, y} = x2 +x y + y2

min{x, y} = x +2y −2

x2 + y2

{

2


